Fole 20c
howos. Fal] )

e LAM E[ £Che Gletchunqcn im csa‘mpem
- a) Elaste statKs

Subgtituieren :

(33) > (3¢) ) = (3 2y,
| r 650 = >~ See dy +2p €y
(36) f;e) = = 631,4 (€) = - Ngwi = a5 ey

3
)\;ax,_[?:: .23—;1-*?3?3] /A %‘SBJ& b"é
9 L
= "(’Hf‘)vx [*;:, ?;;«? 5{[ /‘43_,,—

M [Z:: “'514}'*%':,] (At )wr L5+ 3 57:3] {}

(Blse, |~ [T + L T £ ]- O, [ ).

- Y ,
dE=SE7 ?-.r:,,ﬂ AR

(%)g" -~ 2'4 dv

(‘%]sh ~h A tce) - (/\*},)Vdivutx)#(x) xR
T(‘*) )\ VJl/ U = -F tn SL
€0
Dasu Kowmen die RB (4.-% Art) (L)
5) Elaséﬂdgnamﬂ(
L=1.2,3 (xal)eQ.r _Qxcoﬁ")
+RE (A1.-% Ast) (\I»)

246]

3¢

(36}, 62 xt) “H2 Z Satnd)- (M), Z 0=t
+ A's u(‘ (K( 0) uo"’Ck(D)' o+ (xto) “1.4,0(.0)(_5( 632



